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QUESTION 1

According to Agile principles, what should be the pace of development? 

A. Fast 

B. Increasing 

C. Sustainable 

Correct Answer: C 

 

QUESTION 2

What is a Sprint? 

A. A brainstorming session in Extreme programming to generate design ideas. 

B. A race between two developers to see who can complete a feature fastest. 

C. One iteration in the Scrum methodology. 

D. The last iteration in the Scrum project, when the team works long hours to finish the project. 

Correct Answer: C 

 

QUESTION 3

How does Agile bring predictability to the Planning process? 

A. By allowing the customers to review the progress often. 

B. By assigning most of the responsibility to the Product Owner. 

C. By making the team self-organized and self-planning. 

D. By providing early visibility into the team\\'s progress. 

Correct Answer: D 

 

QUESTION 4

When is a Sprint complete? 

A. When all of the Product Backlog items are completed. 

B. When all the tasks in the Sprint Backlog are completed. 

C. When the Sprint defined time box ends. 



Correct Answer: C 

 

QUESTION 5

For a Sprint, progress is monitored in a burn-up chart with bars. What makes the bar become longer? 

A. The progression of time. 

B. Work is added to the Sprint Backlog. 

C. Work is deleted from the Sprint Backlog. 

Correct Answer: C 

 

QUESTION 6

Agile planning happens at multiple levels including a daily plan, an sprint plan and a strategic plan. What term best
describes the multi-level planning? 

A. Planning Onion 

B. Planning Poker 

C. Sprint Planning 

Correct Answer: A 

 

QUESTION 7

A user story was estimated at five ideal hours. On a normal eight hour working day, the team gets about four hours of
actual work time. 

What would be the elapsed time required to complete the Story? 

A. One day and two hours 

B. Two days 

C. Five hours 

Correct Answer: A 

 

QUESTION 8

What is an information radiator? 

A. A physical display for the team that gives information about the current status. 

B. A tool that automatically sends relevant information to the Product Owner. 



C. A status report or dashboard that is maintained by the Scrum Master. 

Correct Answer: A 

 

QUESTION 9

What is a characteristic of a well-designed Agile work space? 

A. It has a silent zone to facilitate concentration. 

B. There is enough space for information radiators. 

C. Work stations are personalized for team members. 

Correct Answer: B 

 

QUESTION 10

A team estimates a Story using the Planning Poker technique. The team decides to allocate five Story points to the
Story, because the Developers estimated two points and the Testers estimated three points. 

Which statement is true regarding this scenario? 

A. Points are assigned by the Scrum Master, not by the team. 

B. Points are assigned for the overall Story, not for parts of the Story. 

C. Points are never estimated, but always determined beforehand. 

D. The team forgets to ask the Product Owner about the estimate. 

Correct Answer: B 

 

QUESTION 11

What is the relationship between the Product Backlog, the Release Backlog and the Sprint Backlog? 

A. The Product Backlog is a subset of the Sprint Backlog, which is a subset of the Release Backlog. 

B. The Release Backlog is a subset of the Product Backlog, which is a subset of the Sprint Backlog 

C. The Sprint Backlog is a subset of the Product Backlog, which is a subset of the Release Backlog. 

Correct Answer: C 

 

QUESTION 12

Sprint planning should result in a commitment on what will be delivered at the end of the Sprint. Who makes this
commitment? 



A. The Product Owner 

B. The Scrum Master 

C. The team 

Correct Answer: C 
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